Math 171 - Quiz 2 Name __Key
September 4, 2014 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (2.5 points) Find the limit analytically: Q- Mort WORYK
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2. (2.5 points) Find the limit analytically: 2 Move WO
i E=2AE+T)
T2~ T —2 © 3
T L e
X a- - (x-3)
To THE LevT of ¥ = ‘;)J : e
| = _\\IV\ N AVE Ry ‘__
\X~a\= ~(X-‘a> X%ra ‘\.X* I} - \_\_m..,v.w

3. (2.5 points) Find k so that lirri f(z) exists.
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4. (2.5 points) Referring to the problem above, explain how you know that f(z) is con-
tinuous whenever z > 1 regardless of the value of k.
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